(he Computer Science A Exam

COMPUTER SCIENCE A

CALCULATORS, REFERENCE MATERIALS, OR OTHER AIDS ARE NOT TO BE USED DURING
THE EXAMINATION.

Three hours are allotted for this examination: 1 hour and 15 minutes for Section I, which consists of 40 multiple-
choice questions, and 1 hour and 45 minutes for Section II, which consists of 4 free-response questions. In
determining your grade, the two sections are given equal weight. Section I is printed in this examination booklet.
Section II is printed in a separate booklet.

SECTION
Time — 1 hour and 15 minutes
Number of questions — 40
Percent of total grade — 50
Section I of this examination contains 40 multiple-choice questions. Therefore, please be careful to fill in

only the ovals that are preceded by numbers 1 through 40 on your answer sheet when answering the
examination questions.

General Instructions

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE INSTRUCTED TO DO SO.

INDICATE ALL YOUR ANSWERS TO QUESTIONS IN SECTION I ON THE SEPARATE ANSWER SHEET.

No credit will be given for anything written in this examination booklet, but you may use the booklet for notes
or scratchwork. After you have decided which of the suggested answers is best, COMPLETELY fill in the
corresponding oval on the answer sheet. Give only one answer to each question. If you change an answer, be sure
that the previous mark is erased completely.

Example: Sample Answer
Chicago is a Oe®OO®

(A) state

(B) city

(C) country
(D) continent
(E) village

Many candidates wonder whether or not to guess the answers to questions about which they are not certain, In
this section of the examination, as a correction for haphazard guessing, one-fourth of the number of questions

you answer incorrectly will be subtracted from the number of questions you answer correctly. It is improbable,
therefore, that mere guessing will improve your score significantly; it may even lower your score, and it does take
time. If, however, you are not sure of the correct answer but have some knowledge of the question and are able
to eliminate one or more of the answer choices as wrong, your chance of getting the right answer is improved,
and it may be to your advantage to answer such a question.

Use your time effectively, working as rapidly as you can without losing accuracy. Do not spend too much time
on questions that are too difficult. Go on to other questions and come back to the difficult ones later if you have
time. It is not expected that everyone will be able to answer all the multiple-choice questions.
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COMPUTER SCIENCE A
SECTION 1

Time—1 hour and 15 minutes

Number of questions—40
Percent of total grade—50

Directions: Determine the answer to each of the following questions or incomplete statements, using the available
space for any necessary scratchwork. Then decide which is the best of the choices given and fill in the corresponding
oval on the answer sheet. No credit will be given for anything written in the examination booklet. Do not spend too

much time on any one problem.

Notes:

e Assume that the classes listed in the Quick Reference found in the Appendix have been imported where

appropriate.

e Assume that declarations of variables and methods appear within the context of an enclosing class.

e Assume that method calls that are not prefixed with an object or class name and are not shown within a complete
class definition appear within the context of an enclosing class.

¢ Unless otherwise noted in the question, assume that parameters in method calls are not null.

1. Assume that a, b, and c are variables of type
I. (a == b) && (a
II. (a ==Db) || (a ==c¢) || (b ==
. ((a - b) * (a - c) * (b - ¢))

= C) & & ( ==

int. Consider the following three conditions.
c)
c)

== 0

Assume that subtraction and multiplication never overflow. Which of the conditions above is (are) always true

if at least twoof a, b, and c are equal?
(A) I only

(B) Il only

(C) Ul only

(D) ITand I

(E) II'and III

Unauthorized copying or reuse of
any part of this page Is illegal.
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2. Consider the following two data structures for storing several million words.

I. An array of words, not in any particular order

II. An array of words, sorted in alphabetical order

Which of the following statements most accurately describes the time needed for operations on these data

structures?

(A) Inserting a word is faster in II than in L.

(B) Finding a given word is faster in I than in II.
(C) Finding a given word is faster in II than in 1.

(D) Finding the longest word is faster in II than in L

(E) Finding the first word in alphabetical order is faster in I than in II.

3. Which of the following is a reason to use an ArrayList instead of an array?

(A) An ArrayList allows faster access to its kth item than an array does.

(B) An ArrayList always uses less memory than an array does.

(C) An ArrayList can store objects and an array can only store primitive types.

(D) An ArrayList resizes itself as necessary when items are added, but an array does not.

(E) An ArrayList provides access to the number of items it stores, but an array does not.

rauthorized copying or reuse of

y part of this page is illegal. 11
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4. Consider the following method, between, whichis intended to return true if x is between lower and
upper, inclusive, and false otherwise.

// precondition: lower <= upper
// postcondition: returns true if x is between lower and upper,

// inclusive; otherwise, returns false
public boolean between(int x, int lower, int upper)
{

/* missing code */

}
Which of the following can be used to replace /* missing code */ sothat between will work as
intended?
(A) return (x <= lower) && (x >= upper);
(B) return (x <= lower) || (x >= upper);
(C) return lower <= X <= upper;
(D) return (x >= lower) && (x <= upper);

(E) return (x >= lower) || (x <= upper) ;

Unauthorized copying or reuse of

any part of this page is illegal. 12 GO ON TO THE NEXT PAG
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5. Consider the following class definitions.

public class Data

{

private int x:

public void setX(int n)

// ... other methods not shown
}

public class EnhancedData extends Data

{

private int vy;

public void setY(int n)

// ... other methods not shown
}

Assume that the following declaration appears in a client program.

EnhancedData item = new Enhancedbata ()

Which of the following statements would be valid?

L item.y = 16;
II. item.setY(16) ;
IOI. item.setX (25) ;

(A) Ionly

(B) II only

(C) I'and II only
(D) II and 11 only
(E) L 1L and III

authorized copying or reuse of
v part of this page is illegal. 13
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Questions 6-7 refer to the following data field and method.
private int[] arr;

// precondition: arr.length > 0
public void mystery ()
{
int sl
int s2

no
o O

for (int k = 0; k < arr.length; k++)
{

int num = arri{k];

if ((num > 0) && (num % 2 == 0))
sl += num;

else if (num < 0)
s2 += num;

}

System.out.println(sl);
System.out.println(s2);
}

6. Which of the following best describes the value of s1 output by the method mystery ?

(A) The sum of all positive values in arr

(B) The sum of all positive even values in arr
(C) The sum of all positive odd values in arr
(D) The sum of all values greater than 2 in arr

(E) The sum of all values less than 2 in arr

7. Which of the following best describes the value of s2 output by the method mystery ?

(A) The sum of all positive values in arr
(B) The sum of all positive even values in arr
(C) The sum of all negative valuesin arr
(D) The sum of all negative even values in arr

(E) The sum of all negative odd values in arr

Unauthorized copying or reuse of

any part of this page is illegal. 14
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8. When designing classes, which of the following would be the best reason to use mheritance?

(A) Inberitance allows you to write applications that require fewer base and super classes.

(B) Inheritance allows the creation of a subclass that can use the methods of its superclass without rewriting

the code for those methods.

(C) Inheritance allows for data encapsulation, while noninherited classes do not allow for data encapsulation.

(D) Inheritance reduces the number of polymorphic structures encapsulated in applications.

(E) Inheritance guarantees that the applications will compile and execute much more quickly.

9. Consider the following method.

public void conditionalTest (int a, int b)

{
if ((a > 0) && (b > 0))

{
if (a > b)
System.out.printin("a");
else
System.out.println("B");

}
else if ((b < 0) || (a < 0))
System.out.println("C");
else
System.out.println("D") ;
}
What is printed as a result of the call conditionalTest (3, -2) ?
(A) A
(B) B
© c
(D) D
(E) Nothing is printed.

authorized copying or reuse of
' part of this page is illegal. 15
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10. Consider the following class declaration.

public class IntCell
{

private int myStoredvValue;
// constructor not shown

public int getValue()
{
return myStoredvalue;

}

public String toString()
{
return "" + myStoredValue;
}
}

Assume that the following declaration appears in a client class.

IntCell m = new IntCell();

Which of these statements can be used in the client class?

. System.out.println(m.getValue());
II. System.out.println(m.myStoredValue);

IIl. System.out.println(m);

(A) 1 only
(B) Il only
(C) T only
(D) Tand 11
(B) Tand I

Unauthorized copying or reuse of
any part of this page is illegal.
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11. Consider the following static method.

public static int calculate(int x)

{
X = X + X;
X = X + X;
X = X + X;
return x;
}

Which of the following can be used to replace the body of calculate so that the modified version of

calculate will return the same result as the original version for all x ?
(A) return 3 + x;

(B) return

3

(C) return 4 * x;
(D) return 6
8

(E) return

2. Consider the following code segment.

int k = 1;
while (k < 20)
{
1if ((k % 3) == 1)
System.out.print(k + " "),
k++;
}

What is printed as a result of executing this code segment?

(A 2 5 8 11 14 17

B) 3 6 9 12 15 18

@© 1 4 7 10 13 16 19

@ 1 3 5 7 9 11 13 15 17 19
E) 2 4 6 8 10 12 14 16 18 20

authorized copying or reuse of

y part of this page is illegal. 17
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13. Consider the following code segment. The code is intended to read nonnegative numbers and compute their
product until a negative number is read; however, it does not work as intended. (Assume that the readInt
method correctly reads the next number from the input stream. )

int k = 0
int prod

” -

1;

while (k >= 0)

{
System.out.print("enter a number: ");
k = readInt(); // readInt reads the next number from input
prod = prod * k;

}

gystem.out.println("product: " + prod) ;

Which of the following best describes the error in the program?

(A) The variable prod is incorrectly initialized.

(B) The while condition always evaluates to false.

(C) The while condition always evaluates to true.

(D) The negative number entered to signal no more input is included in the product.

(E) If the user enters a zero, the computation of the product will be terminated prematurely.

Unauthorized copying or reuse of

any part of this page is illegal. 18 GO ON TO THE NEXT PAC
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14. Consider the following declarations.

int valueOne, valueTwo;

Assume that valueOne and valueTwo have been initialized. Which of the following evaluates to true

if valueOne and valueTwo contain the same value?

(A) valueOne.equals ( (Object) valueTwo)

(B) valueOne == valueTwo

(C) valueOne.compareTo ( (Object) valueTwo)

(D) valueOne.compareTo (valueTwo) == 0

(E) valueOne.equals (valueTwo)

15. Consider the following method.

public int someCode(int a, int b, int c)

{
if ((a < b) && (b < ¢))
return a;
if ((a >= b) && (b >= ¢))
return b;

if ((a ==Db) || (a ==1¢) || (b == c))

return c;

}

Which of the following best describes why this method does not compile?

(A) The reserved word return cannot be used in the body of an if statement.

(B) Itis possible to reach the end of the method without returning a value.

(C) The if statements must have else parts when they contain return statements.

(D) Methods cannot have multiple return statements.

(E) The third if statement is not reachable.

rauthorized copying or reuse of
y part of this page is illegal. 19
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16. Consider the following code segment.

int numl = 0;
int num2 = 3;
while ((num2 != 0) && ((numl / num2)
{
numl = numl + 2;
num?2 = num2 - 1;

}

>=

What are the values of numl and num2 after the while loop completes its execution?

(A) numl = 0, num2 = 3
(B) numl = 8, num2 = -1
(C) numl = 4, num2 = 1
D) numl = 6, num2 = 0

(E) The loop will never complete its execution because a division by zero will generate an

ArithmeticException.

Unauthorized copying or reuse of
any part of this page is illegal.
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17. A bear is an animal and a zoo contains many animals, including bears. Three classes Animal, Bear, and
Zoo are declared to represent animal, bear, and zoo objects. Which of the following is the most appropriate set
of declarations?

(A) public class Animal extends Bear
{

}

public class Zoo

{
private Animal[] myAnimals;

}

(B) public class Bear extends Animal
{

}

public class Zoo

{
private Animal([] myAnimals;
}

(C) public class Animal extends Zoo
{

private Bear myBear:

}

(D) public class Bear extends Animal, Zoo
{

}

(E) public class Bear extends Animal implements Zoo

{
}

rauthorized copylng or reuse of
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18. Consider the static method selectSort shown below. Method selectSort is intended to sort an array
into increasing order; however, it does not always work as intended.

// precondition: numbers.length > 0
// postcondition: numbers is sorted in increasing order
public static void selectSort(int[] numbers)

{
int temp;
Line 1: for (int j = 0; j < numbers.length - 1; Jj++)
{
Line 2: int pos = 0;
Line 3: for (int k = j + 1; k < numbers.length; k++)
{
Line 4: if (numbers[k] < numbers[pos])
{
Line 5: pos = k;
}
}
temp = numbers[j];
numbers([j] = numbers|[pos];
numbers[pos] = temp;
}

}

Which of the following changes should be made so that selectSort will work as intended?

(A) Line 1 should be changed to
for (int j = 0; j < numbers.length - 2; J++)

(B) Line 2 should be changed to
int pos = j;

(C) Line 3 should be changed to
for {(int k = 0; k < numbers.length; k++)

(D) Line 4 should be changed to
if (numbers[k] > numbers[pos])

(E) Line 5 should be changed to
k = pos;

Unauthorized copying or reuse of

any part of this page is iilegal. 22 GO ON TO THE NEXT PAG
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19. Consider the following two static methods, where £2 is intended to be the iterative version of £1.

public static int f1l(int n)

{
if (n < 0)

{

return 0;

}

else

{

return (fl(n - 1) + n * 10);
}
}

public static int f2(int n)
{

int answer = 0;

while (n > 0)

{
answer = answer + n * 10;
n--;

}

return answer;

}

The method £2 will always produce the same results as £1 under which of the following conditions?

IL.n<0
II.n=0
III. n> 0

(A) T only

(B) II only

(C) HUI only

(D) II and III only
(E) L1I, and III

withorized copying or reuse of
part of this page is legal. GO ON TO THE NEXT PAGE.
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20. Consider the following class definitions.
public class A
{

private int al;

public void methodA()

{ methodB () ; // Statement I
: }
public class B extends A
{ public void methodB()
{ methodA () ; // Statement II
al = 0; // Statement III
: }

Which of the labeled statements in the methods shown above will cause a compile-time error?
(A) Tonly

(B) Ul only

(C) land II

(D) Tand III

(BE) and 11

Unauthorized copying or reuse of

any part of this page is iilegal. 24 GO ON TO THE NEXT PA(
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6. Assume that methods £ and g are defined as follows.

public int f(int x)

}
public int g(int x)
{
if (x <= 0)
{
return 0;
}
else
{
return (f(x - 1) + x):
}
}

What value is returned as a result of the call £(6) ?

if (x <= 0)
{

return 0;
}
else
{

return g(x - 1);

}

A 0
B) 3
© o
D 9
(E) 12

authorized copying or reuse of
y part of this page Is illegal.
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27. Assume that class Vehicle contains the following method.

public void setPrice(double price)
{ /* implementation not shown */ }

Also assume that class Car extends Vehicle and contains the following method.

public void setPrice(double price)
{ /* implementation not shown */ }

Assume Vehicle v isinitialized as follows.

Vehicle v = new Car();
v.setPrice(1000.0);
Which of the following is true?

(A) The code above will cause a compile-time error, because a subclass cannot have a method with the same
name and the same signature as its superclass.

(B) The code above will cause a run-time error, because a subclass cannot have a method with the same name
and the same signature as its superclass.

(C) The code above will cause a compile-time error because of type mismatch.
(D) The code v.setPrice(1000.0); will causethe setPrice method of the Car class to be called.

(E) The code v.setPrice(1000.0); will causethe setPrice method of the Vehicle class to be
called.

Unauthorized copying or reuse of

any part of this page is iilegal. 30 GO ON TO THE NEXT PAC




omputer Science A

3. Consider the following static method.

private static void recur(int n)

{
if (n t'= 0)
{
recur(n - 2);
System.out.print(n + " ");
}
}

What numbers will be printed as a result of the call recur (7) ?

A -1 1 3 5 7
B)1 3 5 7
()7 5 3 1

(D) Many numbers will be printed because of infinite recursion.

(E) No numbers will be printed because of infinite recursion.

uthorized copying or reuse of

part of this page is illegal.
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29. Integers can be represented using different bases. Base 10 (decimal), and base 16 (hexadecimal) are indicated
with the subscripts 4. and ., respectively. For example, the decimal number 23 can also be represented in

base 16 as shown below.

23gec = 17hex
Which of the following is equal to 100, — 10y, ?
(A) 15 gec
(B) 904
(©) 1444,
(D) 2404
(E) 2564

Unauthorized copying or reuse of

any part of this page is illegal.
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Questions 30-31 are based on the following incomplete declaration of the class BoundedIntArray and its
onstructor definitions.

A BoundedIntArray represents an indexed list of integers. Ina BoundedIntArray the user can
specify a size, in which case the indices range from 0 to size - 1. The user can also specify the lowest
index, low, in which case the indices can range from low to low + size - 1.

public class BoundedIntArray

{
private int[] myItems; // storage for the list
private int myLowIndex; // lowest index

public BoundedIntArray(int size)

{
myltems = new int[size];
myLowIndex = 0;

}

public BoundedIntArray(int size, int low)
{

myltems = new int[size];

myLowIndex = low;

}

// other methods not shown

ithorized copying or reuse of
part of this page is illegal. 33
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30. Which of the following is the best reason for declaring the data fields myItems and myLowIndex tobe

private rather than public?
(A) This permits BoundedIntArray objectsto be initialized and modified.

(B) This permits BoundedIntArray methods to be written and tested before code that uses a
BoundedIntArray is written.

(C) This helps to prevent clients of the BoundedIntArray class from writing code that would need to be
modified if the implementation of BoundedIntArray were changed.

(D) This prevents compile-time errors whenever public methods are called that access the private data fields.

(E) This prevents run-time errors whenever public methods are called that access the private data fields.

31

Consider the following statements.

BoundedIntArray arrl = new BoundedIntArray (100, 5);
BoundedIntArray arr2 = new BoundedIntArray (100) ;
Which of the following best describes arrl and arr2 after these statements?
(A) arrl and arr2 both represent lists of integers indexed from 0 to 99.
(B) arrl and arr2 both represent lists of integers indexed from 5 to 104.

(C) arrl represents a list of integers indexed from 0 to 104, and arr2 represents a list of integers
indexed from O to 99.

(D) arrl represents a list of integers indexed from 5 to 99, and arr2 represents a list of integers
indexed from 0 to 99.

(E) arrl represents a list of integers indexed from 5 to 104, and arr2 represents a list of integers
indexed from 0 to 99.

Unautherized copying of reuse of I GO ON TO THE NEXT PA




;omputer Science A

2. Which of the following is (are) true of an interface?
I. An interface can contain a constructor.
II. An interface can be instantiated.

II1. All methods in an interface are abstract.

(A) Ionly

(B) II only

(C) III only

(D) Iand II only
(BE) L 11, and 11T

withorized copying or reuse of

part of this page is illegal.
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33. Consider the following three declarations.

I. Integer objl = new Integer(7);
II. Comparable obj2 = new Integer(7);
III. Comparable obj3 = new Comparable(7);

Which of these declarations is (are) legal?
(A) Tonly

(B) I and II only

(C) Iand 11 only

(D) 1I and III only

(BE) LII, and 10

Unauthorized copying or reuse of
any part of thls page is illegal. 36 GO ON TO THE NEXT PA'
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uestions 34-35 refer to the following declarations.

public class Point

{
private double myX;
private double myY;

// postcondition: this Point has coordinates

public Point{()

{ /* implementation not shown */ }

// postcondition: this Point has coordinates

public Point (double x, double v)

{ /* implementation not shown */ }

// other methods not shown

}

public class Circle

{
private Point myCenter;
private double myRadius;

// postcondition: this Circle has center at

public Circle()
{ /* implementation not shown */

}

{(0,0)

(X,¥)

(0,0) and radius 0.0

// postcondition: this Circle has the given center and radius

public Circle(Point center, double radius)

{ /* implementation not shown */

// other methods not shown

ithorized copying or reuse of

}
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34. In a client program which of the following correctly declares and initializes Circle circ with center at

(29.5, 33.0) and radius 10.0 ?
(A) Circle circ = new Circle(29.5, 33.0, 10.0);

[t}

(B) Circle circ

(C) Circle circ

(D) Circle circ = new Circle();
circ.myCenter = new Point(29.5, 33.0);
circ.myRadius = 10.0;

(E) Circle circ = new Circle();
circ.myCenter = new Point{();
circ.myCenter.myX = 29.5;
circ.myCenter.myY = 33.0;
circ.myRadius = 10.0;

new Circle((29.5, 33.0), 10.0);

new Circle(new Point(29.5, 33.0),

35. Which of the following would be the best specification fora Circle method isInside that determines

whether a Point lies inside this Circle?

(A) public boclean isInside()

(B) public void isInside(boolean found)

(C) public boolean isInside(Point p)

(D) public void isInside(Point p, boolean found)

(E) public boolean isInside(Point p, Point center, double radius)

Unauthorized copying or reuse of
any part of this page is illegal. 38
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6. Consider the following method.

public static void sort(String[] arr)

{
for (int pass = arr.length - 1; pass >= 1; pass--)
{
String large = arr[0];
int index = 0;
for (int k = 0; k <= pass; k++)
{
if ((arr(k].compareTo(large)) > 0)
{
large = arrlk];
index = k;
}
}
arr[index] = arr[pass];
arr([pass] = large;
}
}

Assume arr isthe following array.

| "Ann" | "Mike" [ "Walt" | "Lisa" | "Shari” | "Jose” | "Mary" | "Bill" |

What is the intermediate value of arr after two iterations of the outer for loop in the call sort (arr) ?

(A) | "Amn" | "Mike" | "Walt" [ "Lisa" | "Shari” [ "Jose" | "Mary" | "Bill" |

(B) [ "Ann" [ "Mike" | "Lisa" | "Shari" | "Jose" | "Mary" | "Bill' | "Wait" ]

(©) [_"Ann” | "Bill" T "Jose” | "Lisa" | "Mary" | "Mike" | "Shari" | "Walt" |

(D) [ "Ann" [ "Mike" | "Bill' | "Lisa" | "Mary" | "Jose” | "Shari" | "Walt" |

(E) | "Walt" [ "Shari" | "Ann" | "Lisa" | "Mike" | "Jose” | "Mary" | "Bill" |

uthorized copying or reuse of
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37. The following incomplete method is intended to return the largest integer in the array numbers.

// precondition: numbers.length > 0
public static int findMax(int[] numbers)

{
int posOfMax = 0;

for (int index = 1; index < numbers.length; index++)
{

if ( /* condition */ )

{

/* statement */
}
}

return numbers [posOfMax];

}

Which of the following can be used to replace /* condition */ and /* statement * / so that
findMax will work as intended?

/* condition */ /* statement */
(A) numbers [index] > numbers [posOfMax] posOfMax = numbers[index];
(B) numbers[index] > numbers[posOfMax] posOfMax = index;
(C) numbers [index] > posOfMax posOfMax = numbers [index];
(D) numbers [index] < posOfMax posOfMax = numbers[index];
(E) numbers [index] < numbers[posOfMax] posOfMax = index;

Unauthorized copying or reuse of
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Juestions 38-39 refer to the following information.

Consider the following data field and method. The method removeDups is intended to remove all adjacent
duplicate numbers from myData, but does not work as intended.

private ArrayList myData;

public void removeDups ()

{
int k = 1;
while (k < myData.size())

{
if (myData.get (k) .equals (myData.get (k - 1)))

{

myData.remove (k) ;

}

k++;
}
}

For example, if myData hasthevalues 3 3 4 4 4 8 7 7 7, after calling removeDups, myData
should have the values 3 4 8 7.

3. Assume that myData has the following values.
27555566333

Which of the following represents myData after the incorrect removeDups is executed?

(A) 27563

B) 275633
(C) 2755633
M 27555633
(BE) 27555566 3 3

- Which of the following best describes how to fix the error so that removeDups works as intended?
(A) k should be initialized to 0 at the beginning of the method.
(B) The while condition shouldbe (k < myData.size() - 1).
(C) The if testshouldbe (myData.get (k).equals (myData.get(k + 1))).
(D) The body of the if statement should be: myData.remove (k -~ 1);

(E) There should be an else before the statement k++ ;
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40. Consider the following output.

Which of the following code segments will produce the output shown above?

(A)

B)

©

(D)

(E)

Y
CECECEN NN
W www

TN NN

o1

for (int j = 1; j <= 6; J++)
{
for (int k = 1; k < J; k++)
System.out.print (" " + kK);
System.out.printlin() ;
}
for (int j = 1; 3 <= 6; j++)
{
for (int k = 1; k <= Jj; k++)
System.out.print (" " + J);
System.out.println() ;
}
for (int j = 1; J <= 6; J++)
{
for (int k = 1; k <= j; k++)
System.out.print (" " + k);
System.out.println();
}
for (int j = 1; J < 6; J++)
{
for (int k = 1; k <= j; k++)
System.out.print(" " + k);
System.out.println{) ;
}
for (int j = 1; J < 6; J++)
{
for (int k = 1; k < 3j; k++)
System.out.print(" " + k);
System.out.println() ;
}

END OF SECTION |
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